Answer on Question #51830 — Chemistry— Physical Chemistry

Question:

In a closed system A(s)= 2B(g)+3C(g) if the partial pressure of Cis doubled then partial pressure
of B will be?

Answer:

Forthe closed system .
—
Als)= 2B {g)+ 3C{g)

Kp=(pg)¢ x (pg)®

[—K"i = (pﬂl\ wannresnaa.. equation 1
P

since Kp is constant thus if we double the partial pressure of C then o' = 2pe
Kp = (F'B)¢ x{pc)?
Kp=(p'g)e x (2pc)?

5~ (v

(20c]

SKFT = (P'lh
F‘l:::nﬂquatiunl

: (pa\ _ (\

PB = ﬁPB
Thus pressure of B component will reduce by a factor of 24/2.
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